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SYMBOL PARAMETER CONDITIONS MIN TYP MAX UNITS

0G Gain Error Vg =-15V, Vout =-10V; R = 10k
G =81; LT1996AMS O -0.02 -0.05 %
G =27; LT1996AMS O -0.03 -0.06 %
G =9; LT1996AMS 0 -0.03 -0.07 %
G =81; LT1996ADD O -0.02 -0.05 %
G = 27; LT1996ADD O -0.02 -0.07 %
G =9; LT1996ADD 0 -0.03 -0.08 %
G =81; LT1996 O -0.04 -0.12 %
G =27;LT1996 ] -0.04 -0.12 %
G =9;LT1996 0 -0.04 -0.12 %

GNL Gain Nonlinearity Vg =-15V; Vout =-10V; R. = 10k; G=9 O 1 10 ppm

0G/oT Gain Drift vs Temperature (Note 6) Vs =-15V; VouT = -10V; R = 10k O 0.3 3 ppm/ C

CMRR Common Mode Rejection Ratio, Vg=-15V; G=9; Vcm =-15.3V

Referred to Inputs (RTI) LT1996AMS ] 80 100 dB

LT1996ADD O 80 100 dB
LT1996 0 70 100 dB
Vs=-15V; G=27;Vcm = 14.5Vto 14.3V
LT1996AMS O 95 105 dB
LT1996ADD O 90 105 dB
LT1996 0 75 105 dB
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SYMBOL PARAMETER CONDITIONS MIN TYP MAX UNITS
CMRR Common Mode Rejection Ratio (RTI) Vs=-15V;G=81; Vcm = 14.1Vto 13.9V
LT1996AMS 0 | 105 120 dB
LT1996ADD 0 | 100 120 dB
LT1996 0 85 120 dB
Vem Input Voltage Range (Note 7) P9/M9 Inputs
Vs =-15V; VRgr = OV O 155 15.3 Vv
Vs =5V, 0V; VRer = 2.5V 0 |084 3.94 v
Vs =3V, 0V; VRer = 1.25V 0 | 0.98 1.86 \
P9/M9 Inputs, P81/M81 Connected to REF
Vs =-15V; VRgr = OV O 60 60 Vv
Vs =5V, 0V; VRer = 2.5V 0 | 126 15.6 v
Vs =3V, 0V; VRer = 1.25V 0 | 1.25 6.8 \
P27/M27 Inputs
Vs = -15V; VRer = OV 0 | 145 14.3 v
Vs =5V, 0V; VRer = 2.5V 0 | 0.95 3.84 v
Vs =3V, 0V; VRer = 1.25V 0 1 1.82 \
P81/M81 Inputs
Vs = -15V; VRer = OV 0| 141 13.9 v
Vs =5V, 0V; VRer = 2.5V 0 | 0.99 3.81 v
Vs =3V, 0V; VRer = 1.25V 0 1 1.8 \
Vos Op Amp Offset Voltage (Note 8) LT1996AMS, Vs =5V, OV 15 50 uv
0 135 uv
LT1996AMS, Vs = =15V 15 80 uv
0 160 uv
LT1996MS 25 100 uv
0 200 uv
LT1996DD 25 150 uv
0 250 uv
OVos/OT Op Amp Offset Voltage Drift (Note 6) 0 0.3 1 uv/ C
I Op Amp Input Bias Current 2.5 5 nA
0 7.5 nA
los Op Amp Input Offset Current LT1996A 50 500 pA
0 750 pA
LT1996 50 1000 pA
0 1500 pA
Op Amp Input Noise Voltage 0.01Hz to 1Hz 0.35 uVp-p
0.01Hz to 1Hz 0.07 UVRMS
0.1Hz to 10Hz 0.25 uVp-p
0.1Hz to 10Hz 0.05 UVRMS
en Input Noise Voltage Density G=9;f=1kHz 46 nv/ Hz
(Includes Resistor Noise) G =117;f=1kHz 18 nv/ Hz
RN Input Impedance (Note 10) P9 (M9 = Ground) 0 | 350 500 650 kOl
P27 (M27 = Ground) 0 [326.9 467 607.1 kO
P81 (M81 = Ground) 0 |319.2 456 592.8 kO
M9 (P9 = Ground) 0 35 50 65 kO
M27 (P27 = Ground) 0 |11.69 16.7 2171 kO
M81 (P81 = Ground) 0 | 3.85 55 7.15 kO
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SYMBOL PARAMETER CONDITIONS MIN TYP MAX UNITS
OR Resistor Matching (Note 9) G =81, LT1996AMS 0 -0.02 -0.05 %
G =27; LT1996AMS O -0.03  -0.06 %
G =9; LT1996AMS 0 -0.03  -0.07 %
G =81; LT1996ADD O -0.02  -0.05 %
G =27; LT1996ADD O -0.02  -0.07 %
G =9; LT1996ADD 0 -0.03  -0.08 %
G =81; LT1996 O -0.04  -0.12 %
G =27;LT1996 O -0.04  -0.12 %
G=9;LT1996 0 -0.04 -0.12 %
OR/OT Resistor Temperature Coef cient (Note 6) | Resistor Matching 0 0.3 3 ppm/ C
Absolute Value 0 30 ppm/ C
PSRR Power Supply Rejection Ratio Vs =-1.35V to —18V (Note 8) 0 | 105 135 dB
Minimum Supply Voltage 0 2.4 2.7 V
Vout Output Voltage Swing (to Either Rail) No Load

Vs =5V, 0V 40 55 mv
Vs =5V, 0V O 65 mv
Vs =-15V 0 110 mvV

1mA Load
Vs =5V, 0V 150 225 mv
Vs =5V, 0V O 275 mv
Vs =-15V 0 300 mvV
Isc Output Short-Circuit Current (Sourcing) Drive Output Positive; 8 12 mA
Short Output to Ground 0 4 mA
Output Short-Circuit Current (Sinking) Drive Output Negative; 8 21 mA
Short Output to Vs or Midsupply 0 4 mA
BW 3dB Bandwidth G=9 38 kHz
G=27 17 kHz
G=81 7 kHz
GBWP Op Amp Gain Bandwidth Product f = 10kHz 560 kHz
tr, t Rise Time, Fall Time G =9; 0.1V Step; 10% to 90% 8 us
G =81; 0.1V Step; 10% to 90% 40 us
ts Settling Time to 0.01% G=9; Vs =5V, 0V; 2V Step 85 us
G=9;Vs=5V,0V; 2V Step 85 us
G =9; Vs =-15V; 10V Step 110 us
G=9;Vs=-15V; 10V Step 110 us
SR Slew Rate Vs =5V, 0V; Vout = 1V to 4V 0 | 0.06 0.12 Vius
Vs = -15V; Voyt = -10V 0 | 0.08 0.12 Vius
Is Supply Current Vs =5V, 0V 100 110 HA
0 150 A
Vs =-15V 130 160 A
0 210 A
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